

NRIKORIE PASCAL CIPICANDI

MECHATRONICS ENGINEERING

19/ENGD51043

NAT104 ASSIGNMENT

1)

a) $y = \sin\left(\frac{3}{x^2}\right)$

$$y + \Delta y = \sin\left(\frac{3}{(x + \Delta x)^2}\right)$$

$$\Delta y = \sin\left[\frac{3}{(x + \Delta x)^2}\right] - y$$

$$\sin A - \sin B = 2 \cos\left(\frac{A+B}{2}\right) \sin\left(\frac{A-B}{2}\right)$$

$$\Delta y = 2 \cos\left[\frac{3}{2(x + \Delta x)^2} + \frac{3}{2x^2}\right] \sin\left[\frac{3}{2(x + \Delta x)^2} - \frac{3}{2x^2}\right]$$

$$\frac{\Delta y}{\Delta x} = \frac{2 \cos\left[\frac{3}{2(x + \Delta x)^2} + \frac{3}{2x^2}\right] \sin\left[\frac{3}{2(x + \Delta x)^2} - \frac{3}{2x^2}\right]}{\Delta x}$$

$$\frac{\Delta y}{\Delta x} = \left[\frac{2 \cos\left[\frac{3}{2(x + \Delta x)^2} + \frac{3}{2x^2}\right] \sin\left[\frac{3}{2(x + \Delta x)^2} - \frac{3}{2x^2}\right]}{2x^2(x + \Delta x)^2} \right] \times \frac{1}{\Delta x}$$

$$\frac{\Delta y}{\Delta x} = \frac{2 \cos\left[\frac{3}{2(x + \Delta x)^2} + \frac{3}{2x^2}\right] \sin\left[\frac{3}{2(x + \Delta x)^2} - \frac{3}{2x^2}\right]}{2x^2(x + \Delta x)^2} \times \frac{-6x\Delta x - 3\Delta x^2}{2x^2(x + \Delta x)^2} \times \frac{-6x - 3\Delta x}{2x^2(x + \Delta x)^2}$$
$$= \frac{-6x\Delta x - 3\Delta x^2}{2x^2(x + \Delta x)^2} \times \frac{-6x - 3\Delta x}{2x^2(x + \Delta x)^2}$$

$$\lim_{\Delta x \rightarrow 0} \frac{\Delta y}{\Delta x} = \frac{2 \cos\left[\frac{3}{2(x + 0)^2} + \frac{3}{2x^2}\right] \sin\left[\frac{3}{2(x + 0)^2} - \frac{3}{2x^2}\right]}{2x^2(x + 0)^2} \times \frac{-6x - 3(0)}{2x^2(x + 0)^2}$$

$$\therefore \frac{dy}{dx} = \frac{-6x}{x^4} \times \frac{-6x}{x^4} \times \frac{\cos\left[\frac{3}{2x^2}\right]}{2x^4}$$

$$\therefore \frac{dy}{dx} = \frac{-6}{x^3} \times \frac{\cos\left[\frac{3}{2x^2}\right]}{2x^4}$$

b) $y = \frac{4}{x^3}$

$$y + \Delta y = \frac{4}{(x + \Delta x)^3}$$

$$\Delta y = \frac{4}{(x+\Delta x)^3} - \frac{4}{x^3}$$

$$\Delta y = \frac{4x^3 - 4(x+\Delta x)^3}{x^3(x+\Delta x)^3}$$

$$\Delta y = \frac{4x^3 - 4[(x+\Delta x)(x^2 + 2x\Delta x + (\Delta x)^2)]}{x^3(x+\Delta x)^3}$$

$$\Delta y = \frac{4x^3 - 4x^3 - 8x^2\Delta x - 4x\Delta x^2 - 4\Delta x^3}{x^3(x+\Delta x)^3}$$

$$\frac{\Delta y}{\Delta x} = \frac{-8x^2\Delta x - 4x\Delta x^2 - 4\Delta x^3}{x^3(x+\Delta x)^3}$$

$$\frac{\Delta y}{\Delta x} = \frac{-8x^2 - 4x\Delta x - 4\Delta x^2}{x^3(x+\Delta x)^3}$$

$$\lim_{\Delta x \rightarrow 0} \frac{\Delta y}{\Delta x} = \frac{-8x - 4x(0) - 4(0)^2}{x^3(x+0)^3} = \frac{-8x}{x^6}$$

$$\frac{dy}{dx} = \frac{-8x^2 - 4x^2}{x^6} = \frac{-12x^2}{x^6}$$

$$\frac{dy}{dx} = \frac{-12}{x^4}$$

2) $\int \frac{dx}{x^2+36}$

Let $x = a \tan \theta$

where $a = 6$

$x = 6 \tan \theta$

$\frac{dx}{d\theta} = 6 \sec^2 \theta \therefore dx = 6 \sec^2 \theta d\theta$

$\therefore x^2 + 36 = (6 \tan \theta)^2 + 36$
 $= 36 \tan^2 \theta + 36$

$= 36(\tan^2 \theta + 1)$

$36 + x^2 = 36(1 + \tan^2 \theta)$

Recall that $1 + \tan^2 \theta = \sec^2 \theta$

$= 36 + x^2 = 36 \sec^2 \theta$

$$\int \frac{dx}{x^2 + 36} = \int \frac{6 \sec^2 \theta \, d\theta}{36 \sec^2 \theta}$$

$$= \frac{1}{6} \int d\theta = \frac{1}{6} [\theta] + C$$

$$= \frac{1}{6} \tan^{-1} \frac{x}{6} + C$$

$$b) \int \frac{1}{x^2 + 13} dx = \int \frac{1}{x^2 + (\sqrt{13})^2}$$

let $x = a \tan \theta$.

where $a = \sqrt{13}$

$$x = \sqrt{13} \tan \theta$$

$$\frac{dx}{d\theta} = \sqrt{13} \sec^2 \theta$$

$$dx = \sqrt{13} \sec^2 \theta \, d\theta$$

$$x^2 + 13 = (\sqrt{13} \sec^2 \theta) (\sqrt{13} \tan \theta)^2 + 13$$

$$= 13 \tan^2 \theta + 13$$

$$x^2 + 13 = 13 (\tan^2 \theta + 1)$$

Recall that $1 + \tan^2 \theta = \sec^2 \theta$.

$$x^2 + 13 = 13 \sec^2 \theta$$

$$\int \frac{1}{x^2 + 13} dx = \int \frac{\sqrt{13} \sec^2 \theta \, d\theta}{13 \sec^2 \theta}$$

$$= \frac{\sqrt{13}}{13} \int d\theta$$

$$= \frac{\sqrt{13}}{13} [\theta] + C$$

$$= \frac{\sqrt{13}}{13} \tan^{-1} \frac{x}{\sqrt{13}} + C$$